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MATHEMATICS TEST
60 Minutes—60 Questions

DIRECTIONS: Solve each problem, choose the correct
answer, and then fill in the corresponding oval on your
answer document.

Do not linger over problems that take too much time.
Solve as many as you can; then return to the others in
the time you have left for this test.

You are permitted to use a calculator on this test. You
may use your calculator for any problems you choose,

but some of the problems may best be done withot
using a calculator.

Note: Unless otherwise stated, all of the following shoul
be assumed.

1. lllustrative figures are NOT necessarily drawn to scale
2. Geometric figures lie in a plane.

3. The word fine indicates a straight line.

4. The word average indicates arithmetic mean.

1. For each of 3 years, the table below gives the number
of games a football team played, the number of
running plays they ran, and the total number of yards
the team gained on running plays.

Running | Total yards gained
Year Games plays on running plays
1997 131, 397 1,028
1998 11 394 1,417
1999 9 378 1,920

To the nearest tenth of a yard, what is the average
number of yards gained per running play in 1998 ?
sl

A. 2.6
B. 27
ﬁ-.hc

e

E.

DO YOUR FIGURING HERE.
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2. For the polygon below, the lengths of 2 sides are not /4 ﬁ/ S M C% % g 7/2/(,/ |
Ashber, T& acks
Sor e rimi7ER, N

given. Each angle between adjacent sides measures
90°. What is the polygon’s perimeter, in feet?

20 feet

6 feet

10 feet

F. 41
G. 52
—% H. 60
J. 140
K. 200
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3. Which of the following inequalities represents the DO YOUR FIGURING HERE.
graph shown below on the real number line? —_—
o INEghali77¢S
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4. What is theVEalue of 3:2" "' whenx=4andy=-17 P/J(f /(/ /m;é%s
a,«// Smps Ly

F. 216
—pi 3.7 = 3.2°- 3-5=24,

G. 9 L + (—/J
TNTEGERS dAFe FXie WhH/E Nimihépc
5. For integers a and b such that ab = 8, which of the %4/7"' are. 7£ o Fr — .

_following is NOT a possible value of a ?

e M
e g b /S5 AN //vﬁfﬁé,{ | - A/
_é:é: :§ St -JﬁaT b and ~SEE€ M&éé i ﬁ/ﬁ
' : Praé/coof ayy P%% {7

ol £ TR Clbe b e

6. What is the volume, in cubic centimeters, of a cube
whose edges each measure 4 centimeters in length?

—iE Py eyt = fpry-2Y

a5i’ﬁ/§ ﬂéém % ;A@/ ToTnls
7. A it d a 1-day craft show. / //’
Ao et st ey pIVE A %’Mé

= a
i%?ﬁ%fﬁ?gg%ﬁi@ g Sffﬁ,ﬁgiﬁflﬂgﬁi”s’ Ven 7’% e %7
B, 4oL+ 1250 Satl fM/éS %25',_ P/250
S5 & fpe ColleT 0 50

. 4,050L 7%6 /U/(f ,471/}64/% Wﬁ% 4“/(/2527%,%

ACT-63E-SAMPLE /@ 5 15 GO ON TO THE NEXT PAGE.
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8. In the figure below, A, B, and C are collinear, the
measure of ZABD is 7x°, and the measure of ZCBD is
3x° What is the measure of #ABD 7
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S /%L//W?’%

DO YOUR FIGURING HERE,

A s

—E BT Toeat /G )
PR = Tt 3x= J0° K=/

9. Which of the following is NOT a possible value for a

probability?

A, 0.001

fooky by /7y

B.

: C 0 :L
D § NeveR A/ S AY S
—> v 24 Y Valuts ot haneé are bofereen O et L
10. For the first several months after the Fiery Red Scooter ‘

arrived in toy stores, the rate of sales increased slowly.
As this new scooter caught on, however, the rate of
sales increased rapidly. After several more months,
many people owned a Fiery Red Scooter, and the rate
of sales decreased. Which of the following graphs
could represent the total number of Fiery Red Scooters
sold as a function of time, in months, after the scooter
arrived in toy stores?

FE 4 J =
522,500 =g
8 2,000 5o
B31.500 25
S 21,000 5¢
2 500 =3
L e e e e R,
0 8 16 24
time
G
S 2,500? =2
5 2,000 5
‘g 21.500 25
2 € 1.000 32
2 500 2
0 B s e =
0 8 16 24 .
time [ime
H.
82,500
5 2,000
"£21,500
= 81,000
’ =8 500
0
0 8. 16 24
time
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For 4 community service project, members of the
junior class at San Carlos High School are going to
varnish the rectangular dining room floor of a local
nursing home. The floor is 60 feet wide and 80 feet
long. Under the assumption that | can of varnish
covers exactly 250 square feet, what is the minimum
number of cans of varnish they will need in order 10
put 1 coat of varnish on this floor?

DO YOUR FIGURING HERE.
M A ﬁﬂf/ 2 Y AYY-% 4

Yoo divider b y 250 =

b ‘ l{ov A- Boxbo | 9q. 2, TF g onty
- 1o = =
—>E 2 8o = Y800  bouglt /9 Can's Soud russ # spdl.
Sealt Dratws w95
12. Carl is making a scale drawing of his rectangular

bedroom floor. The floor is 12 feet wide by 14 feet
long. He is using a scale of % inch = 1 foot for the
scale drawing of the floor. What will be the dimensions,

in inches, ot Carl’s bedroom floor in the scale drawing?

Fres

F 3by 3

2
G, 4by 4% ] ?
H. 6by 7 Y p:
B——— =
J. 36by42 ) e
K. 48 by 56 6 )ZW

LSt 210001 70nS, fiyir
Make Stet ol Yneer—

Measipe #rean7s dye.
C&/(/ﬁ-/",f 7 EAT. 7%/, OA//V
2(4) = 4L Awswer
=5 = with 3 4
J = f

—
——

fegeeny and 7977C s

I3. According to a recent survey of students about the
juice they each preferred, 20% of the students
preferred cranberry juice, 40% preferred orange juice, g i % M P/"e _,ﬁef/re/( 0/0/5’)
20% preferred grapefruit juice, and the remaining ’“87 ?
students preferred tomato juice. If each student - 7
preferred only 1 juice and 250 students preferred Hens /2/’"7& 7o 7 5 20 =2
tomato juice, how many students were surveyad? é 277/’% A«LZ—
Vi $ o C ettt d+
N 30 I 0% ot ToraL= TP AL be ,
5 100 z2go, b IV howe 70 Al ¢« Z2 /ﬁﬁ o.
W L _ 1
—2E 120 5 2,% . 247 A% tran + J0/% 0% + 2% 6+ 287 )
" ; s A e -
14, The circumference of each tire on a bicycle is 50 inches. J/,/,C/%W [ //(?/‘/C'é/i AN %,(/Mf"
About how many revolutions does one of these bicycle
tires make traveling 300 feet (3,600 inches) without > % '
slipping? £ f/ﬁ’dizﬁ,@/ a 4 /"&/f—', ‘Z_ﬁf gfﬂ/&(l
F. 6 -
G. 18 .5/ . /ﬂ% % ASTANCE. %
—3H. 72 jé’ﬁ? //I/C%é'/j / e A7 d;pq,,v// e
I 300 A | Crele angd crretes
> € et 4
K. 864 bl’&éeﬁ/ L%' A 42’/5 7 f- A 5&%94%
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15, (4x% - 3x + 7) = (=1 + 5x + 2x%) is equivalent to: DO YOUR FIGURING HERE.
TN A 374 S ///Mké&/&‘ yﬁf’(/

B. 22" +2x +38

c. Aadies S s 7 bl o NG -
piniatgerg T

. 6x' -8 +6
| 16. A ticket for a movie at the Hazelnut Cinema costs Zt ’/K é? %
i [\{% $5.00. Latoya treats her younger brother to a movie at e
MG the Hazelnut Cinema. She gives him % the money she é? -7" d;e’_. //ﬂ/(//
,7;/ @j /( brought with her, for his ticket and a snack. When he ) ; -.5/
g(ﬂf asks to play a video game, she gives him $1.00. That / o éZ) jgc, é e j AN L/ i
| leaves Latoya exactly enough money to buy her own /
| Se7 Y ,J/gfz/%«— /P/’/. o7

ticket. How much money did Latoya bring with her?

$10.00 7’2;_ 59/“/4 %/7’ % NG LER,

F.
G. $11.00
——= H. §$12.00 _ /7/&/%' JeT—
ks Ly — 4] —4¢ o | nswnck? ConSuse
A i Y = /2 | sou - j

- = & Se

17. Mr. Gomez gave his class a test on 20 spelling words. )
tW Only one of the following percents is possible as the Fé’ /C,.Mf };_ .}7{{6'7/?04// #

percent of the 20 words a student spelled correctly.

o z/ Which one is it? ~ w /; /
‘ o ; /) é’.v
P(Ppm/) M{-—-ﬁ B w3 (0rrec? Answins
g. gggc & = 7, lovrei?” '
E. 99"//2 7?)7% 6?'4 5"577&*/05- g8 et ; /

. L weir iq/‘?—-o ) ’8/2_0 anrA "7/2-0 éLA/ZJ(’/ - —A?ZM.&/ a Md%
18. The first 5 terms of a geometric sequence are 0.375, é’éﬂ //W/é %%,Mﬁg

—1.5, 6, =24, and 96. What is the 6th term? )
>C 8 e Comrmron A AT . ’/,74,2/ C227 1272
H. -6 5 : f
‘ig— = -4 —4 bepmrtons /2 afbe 2% -—t/:‘SZj?
19, (2A'~§y)2jsequiva[entto: g}/{f{") /@/ﬂ// Sféﬁ%é’ﬁ |

..‘-,-zg. :-xi—;éx;:-bg)i , 7 . >’L L/ 5
;/ Zb lp’l E. 4)c-6j)’ ﬁ; Zﬂ%ﬁﬁw W/%Wﬁ#égg)z; 75
IO e by both Torom s any/ //@Z?@é

t Ao o anid %o /{/&o///’ Z/"é/%%ff — ]2y

2xx -3y = —boy w2 =
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20. As shown in the figure below, Mr. Thompson, who is
standing at pomnt A, needs to determine the distance
from point € on the ground to point £ at the top of one
of the second-story windows of his house. He places a
mirrer on the ground at point B so that when he Iooks
in the mirror, he can see the top of the window.
Mr. Thompson s eye level, at point D, is 6 ft above the
ground. He notes that AB = 4 ft and BC = 14 f1.
Approximately how many feet above the ground is the
top of the second-story window?

(Note: In AABD and ACBE, £ZABD is congruent to

ZCBE)

£ 2
G. 10
H. 16
—>]. 21
K. 24

ZANRVANRYANRYANRVANRVANRVANRYVANRVAN

, DO YOUR FIGURING HERE.
5/“#7/"/%/’ //v'é’j/é’fj
RE Euast o /‘%;ﬁ/f%/uf
/A/ép// ﬂ//'&f/f/wfzf wi7h 2%
Hoowi SET e PrefriTions

and y So/vE  Sor 7
b 7 6.3 _ 7
Lf ?r /7‘

2 /Z/eé; - ez Z}

o =

21. What is the solution to the equation 7x — (x = 3) =6 ? S /
e/VinG X

“ -2

A 5

B. -2

1

-———> C‘ i"
3

D. 5

E. 2

A Makhe Seeh s gmt, 0.5 A«f
/(@ga/ Vi Pﬁﬂ/ﬁ/y
7 v —X + > = é

Q"KT o= ,,fﬂ=2 &X;:>«Ei.

i
g&mgm
Do O

22. The area of AXYZ below is 32 square inches. If XZ is

8 inches long, how long is altitude YW, in inches? %
y [ea —/'l

ACT-63E SAMPLE
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23. Given f(x) = 2%’

R i) s 2D = () + 7

(~10) 7 DO YOUR FIGURING HERE.

— 5x + 7, what is the valoe of f

Z — (-5 + 7 —
o0 o) 722{’;2

2. 535 -

G, 584
H. 667

E .WM. The cheerleading squad wants 10{ pllzwhase new N _
! uniforms to wear at the regional c hampionship 4// ZJZ // i
\l}’ competition. They decide to sell candy bars for $1.00 /Ar/ M %/V/W
each. The squad will receive $0.40 for each of the first .
sold, For each of the next 300 sold, the

ep"; 41"\ 200 candy bars )
M squad will receive $0.50. For each additional candy MB‘T/§4 —

nv b 1d, the squad will receive $0.60. How

WQ C:;ds;obars r%lgs%utﬁe :élluadf(?s{gllvti reach thgﬁ.wg(;g?rg; ﬁ"g ﬁ —_— Z 3@_.: %/Z&
\ raising $350.00 7 | - ;
| E. 350 200 ¥ @ef@-‘—' Seo # o. 60 X ;y/zp

2003 & 50 =/52

— 3. 700 . ' g7 / : =
K. 875 gk%(— /- b2 2%/_9// Mﬁé ﬁZjO GO # 200= 7@0

- 25. The table below shows the age distribution of the ) .
student body at Memorial High School. ﬁﬁd% W JASC 7“%

A \ ” S 1" 1 " S L4
/\[@@!5 7& ge, in years | 14 3 16 | 17 8 % . —_
—— | Percent 6% | 28% | 26% | 31% | 9% é(/ are /e /"?

. 34%
40%
50%
60%
66%

STl e

m = | of students
% . What percent of the stadents are at least 16 years old? % &Wﬁm\? }e,/'z M;

07 Goslorts who Are Freadif lew
or Eque/ o fb6 > 264 3/ + 9> b6

F. 22%
G. 33%
s H. 50%
J.  67%
K. 200%

26. What percent of % is L9 W—M}'/MN?A /‘ﬁ 9/0//' 047’ ((/V/W@@Af

3

X - ) o g“z_‘b Cae %A{

e 2

o 3 2. Ll s

27. The sign below

advertises a sale on coats. What is the 4
sale price of a coat with a regular price of $84.00 7 (%c&v'/" 5‘7_ 74&( 2o

AN
l

3/4 off the regular price!

SALE SALE SALE _ e
G AT o7 A7

All Coats

SALE SALE SALE @M@%{ (z% s 51,4, /@‘/’/FC{-—

A. $ 9.00
B. $21.00
C. $42.00
D. $63.00
E. $83.25

40T 65 SAUPLE &‘m{, Are. m@a P@?ﬂé

' JCEA T / 3.
Tho Sute. price S%ﬁ#wmaoﬁ

ﬂ/);/ff,:i @,/%Z%m_ —

Z e L P P
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28, The ratio of a side of sguare A to the length of
rectangle B is 2:3. The ratio of a side of square A to the

width of rectangle B is 2:1. What is the ratio of the
arca of square A to the area of rectangle 87

S=Z

VANRVANRVANRVANRVANRVAN

B L=2

Vi
fs oG w1

Dings sy

b
S‘:'Z— /78:— 3’- W= J.

S s 2 e

/mé’#}—/}" 4! D Ureac >

b&‘% //‘?7;_0'5) g‘z"{:»
Lens Lo Hr, |

~— 7

29, In Intermediate Algebra class, Ms. Schimmack makes
the statement "y varies directly as the product of w?
and x, and inversely as z°” and asks her students to
translate it into an equation. Which of the following
eguations, with & as the constant of proportionality, is a
correct translation of Ms. Schimmack’s statement?

% ros7 and TAVEASE
%ff AT [9 A7

S

—py Ay gv_:?& \/ ]/5&%6'9 ﬂérecf% g;kx ) = -
B g 10 Pivdeeet &7 _—_Like S dia . l
i W% ard K = K= Cons7prn7 o7 VBR/ BT 704/
! Coy= l'.f*;i . 2
| " C;r = Wex
D. y= ;‘;—3; é /
e B8 Vawieg ;wverse . o
Lk 3 o 22 Meaxs 3 z3

30. In a certain isosceles triangle, the measure of each of

1 the base angles is twice the measure of the vertex

angle. What is the measure, in degrees, of each of the

Tsose/es 7/—6)47\9"/45
X'f‘ 2x ‘f‘?_?( 2 5-')5

base angles? _ & &

F 36° Sx = /80

G. 60° i ;o
—>H. 72° ¥ = 3(9

J. 120°

K. 144° Z_ —X - ‘7 2 ©

31. For a single production run, when n items are made
and sold, a company’s profit, P dollars, can be
modeled by P = n° - 300n - 100,000. What is the
smallest number of items that must be made and sold
in order for the company not to fose money on the
production run?

150

200

300

350
500

A,
B.
; c.
D.
E.

ACT-63E-5AMPLE
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Use the following information to answer
questions 32-34.

Mousepads Galore is a company that produces computer

& mousepads. Cost is the total money spent to produce and
sell the mousepads, and revenue is the total income
generated by the sale of the mousepads. The graph below
depicts projections for the linear cost function, C(x), and
the linear revenue function, R(x).

ut
n Ry,

1201+
100}--
40}

20

$ (in thousands)

() et
0 2 4 6 8 1012 14 «x
number of mousepads
produced/sold
(in thousands)

32. During the month of April, Mousepads Galore broke
even (did not gain or lose any money) when
x mousepads were produced and sold. How many
mousepads did the company produce and sell during
the month of April?
—=>F. 10,000
G. 12,000
H. 14,000
J. 15,000
K. 30,000

«

‘ DO YOUR FIGURING HERE.
Linear Mearns TRighe-
Liné&

v o Aol
T st hare
e Company F775 o

fecpep Loir PR PerLES

33, The cost function shown in the graph for Mousepads
Galore has 2 components: a fixed cost, plus a constant
production cost per mousepad. Which of the following

is the fixed cost?

A S 0 or
B. § 1,000
C. § 10.000
—=3D. $ 30,000
E. $100,000

i ONE Urit, oF :
ff:j'f wp Coat Look M/&/W?L(@/ ?@)

Beye Ho tompty Sl
poaf A3 680 n

34. Mousepads Galore sells each mousepad at the same
price, which is an integer number of dollars.
According to the revenue function, what is the price of

each of these mousepads?

F $3 & . . 3
£33 A Bty iy« AP
—2 H. $10 / W A A

L. 812

K. Cannot be determined from the given information

e

ACT-63E.8AMPLE /éﬁ/% olid %

Der wpn v

To Sope o7 DeRly) 2/6' (2) <iuf”

H/00 i e
Mf"/gﬁzfém; /42(4%_

oy porit Wbete () eavsss,

_Lq 4 /99 ppo
WXz
GO ON TO THE NEXT PAGE.
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35. Which of the following is a complete factorization of DO YOUR FIGURING HERE.

et Fhtbring [2lgnorniz s
x+ 2xy(l + 3x . ’
FHE Ax ir K oy Opu s e tor—

STl fe

>

Stpe o7 fak N %

36G. Which of the following is an equation of the line that -
passes through the points (1,3) and (-3,-13) in the /W %}/{/ g,

s:anéaﬁ (xy,y:) :oordinare plane? |
“"ﬁ‘é’ - %7/1/, - AV _ vﬂ/Zx-—}) ﬁ"jf:
' Ax o) e
Liok o Jrcr hovies awd Séx

lhich one wonlf have Sepe Y iy f=pixrh
37. A square has sides that are the same length as the C/‘ o
radius of a circle, If the circle has an area of méﬁ M %’-
367 square units, how many units long is the perimeter €N c5— EA
. 18
. 24

of the square?
Piagrasms Cans Oclp  Hrea-oz (= g7
36

324 Dgfé@ jfz—izg

Forsmten 7 Spagre =Ys = )= 29

—>

SITeb T

38, If the following system has a solution, what is the _5}/57{';7/; d? : M
x-coordinate of the solution? . 7- (

3x+ 6y =52

N8E I fu dnad o K Vibir

| CF 19 .
g% ‘ 4/;)47/)1/2/?-'— S & Vb
III{.. T(l)}e system has no solution. 3?(% éo"( B ;2’_
E— — 7"5(5[/ =22Y GO ON TO THE NEXT PAGE.
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Use the following information to answer
guestions 38-41,

In the figure below, B and C are on HD and G and F are on
HE. The measurements given are in inches. Both BGFC
and CFED are trapezoids. The area, A, of a (rapezoid is
given by A = —21—}1(17l + b,), where & is the height and b, and

p AVANNYANVANRVANEVANRVANRVANRVANIVAN

DO YOUR FIGURING HERE.

7/?@@/%&/ e
Casield 72 %ﬁc‘ A2

Werags P bisSES- Tones
b, are the lengths of the 2 parallel sides.

b, fbe 4

—-——"‘_'-‘-_'__’
60 2

L_E P 69/+/2°

2]
39. What is the area of BGFC, in square inches?

A, 2,500 Y 7y AC/ yff 7 ol 9/ Vi

., yg
( qzﬁ),; /é&XV&;
re

5,400
6,400

B.
—
D. 7,000
E.

747747 Zf‘&»/,ez’-ﬂ(__
12,800

40. What is the length of BC, in inches? P}/%ﬁf/m %gyﬁﬁ
- F (&) 46 = ()"
e LS e - 7
C T g LA’ fo AR o SabTTair

K. 6400 }/
41. What is the radius, in inches, of the largest circle that éﬁ ﬂdw? / o0

can be drawn so that no point of the circle is outside
CFED? ¢
—> 4 w0 Zﬁ No /P[)/',W’/C,?— o rafF A7 ﬁé&{%ﬂ%{—
C. 60 VAR . ¥
bow  [DCFED, Z‘@ﬁ/ @ T p G0 i .
77@7*@47@ /ﬁz Sus /“57 Aavi F e 4

AM/%/Q/;% Diameten o< %g%g}ﬂ&

GO ON TO THE NEXT PAGE.
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42. As shown in the figure below, an escape ramp leading DO YOUR FIGURING HERE.
from an emergency exit of an airplane is 35 feet long y =
when fully extended and forms a 15° angle with the L ﬂ?) /
level ground. ' 45 >

o/ CAH 754

35
9
; g ._ o
| 159 5 N /5 E Z
H - -
ground
Given the trigonometric approximations in the table g ;
below, what is the height above the ground of the
emergency exit, rounded to the nearest 0.1 foot? & Z 5? . 7
” - 2
,—n-—_'-l

! cos 15° ] 0.966
sin 15° | 0.259
tan 15° | 0.268

D5 = G9) 35— o 9 1

F 28
| G. 74
H 77 _ _
s 3 LT W Nearedi7 £.7 —opF~

43. There are 10 equally spaced dots marked on a circle. " /
Kim chooses an integer, n, that is greater than 1. Z o W e o /ﬁj/m
Beginning at a randomly chosen dot, Kim goes around

i the circle clockwise and colors in every nth dot. He w/ ‘ﬂ, JZQ’/} OH A r /.\léé

continues going around and around the circle coloring

in every nth dot, counting each dot whether it is Df/é/
| colored in or not, until he has colored in every dot. M #p{_,fug/ 3 Lo

| Which of the following could have been Kim’s ]

e CoViR oo AL 2 s0eldd

A2
—>1 3 Grccd SA 5 X
C 1 Ccdeele d‘ﬁ*ﬁ
D. 5 /
E 6 Oy p AEF
44. Consider the exponential equation y = Ca’, where C - N o
1 and a are positive real constants and ¢ is a positive real -47('%/&\/73’ C
. ,’U} number. The value of y decreases as the value of e > O
3 f increases if and only if which of the following ‘é‘ -
: statements about a is true? % /
: F -l<a i % : :
| G. 0%a y NIy Wit Crady Hpcpipse ar
—»H. 0O<a<l “ B . -~ ‘ —
| J. l<a<? y 3 'S Aa A g eftﬂ oA
| I 1z win Cfeadss e Z2d

* e RS NSNS DT e E For maloc
5 g\, /o L
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- =N @ £ (3
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§ 46, During their momiu% j?g in the park, Jean stops at a DO YOUR FIGURING HERE.

' drinking fountain. Sula continues to jog and gets ; 4 A

10 meters ahead of lean. Sula is jogging at a constant / )W/W; M
rate of 2 meters per second, and Jean starts jogging at a i

constant rate of 2.4 meters per second to catch up to

Sula. Which of the following equations, when solved mg

for t, gives the number of seconds Jean will take to

catch up to Sula?

—> B, 2+ 10=2.41 D"dﬁ’ﬁ'% 67%‘”% /’%ﬁ;fj %;7/—

G. 2r-10=2.4 4/‘&&/ 2%7 Mgng %f//@% %ﬁé
i ﬂ—&§ﬁ=2f wij pe é@ﬂﬁaaﬁﬂvé7» 4@%zg £ -

I ’

K

2r= 1) 5;7'% T 0 —ésrmg:é:t,z S 2. Sfasgy
P Ra=10 clea? enl s CFual 7o PAE pza®)ie —

47. Which of the following defines the solution set for the 8 7 A : %
system of inequalities below? vy L 75&4
x<6
4+2x20

L ol TxEY ot
%% 73(:2 -z 5%
lombiwing X =6 ang/ K > =2 / 9

1

HOOwEp
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INIA A TS

O Ch

drawing class. Of these seniors, 20 are enrolled in both
the sociology class and the drawing class. How many
f,‘- 955 Yo t X—20 = j2 0 _ 35?207’*'2@;— 7_5—
——> K. 45 N 7Sz Z}p?f\/éﬁ//{ ‘ '
/M TS e ey /)

of the 120 seniors enrolled at Brookfield High School
"Z‘ — (/r

€t G 8 X (<= é
48, At Brookfield High School, 55 seniors are enrolled in é‘ Z — J-—-—-—-

are NOT enrolled in either the sociology class or the

drawing class?
49, If two lines in the standard (x,y) coordinate plane are

perpendicular and the slope of one of the lines is 3, [4‘ ﬂ .

what is the slope of the other line? < 0 é

A, -3 ; 5 s

A THe //57§/Z? /?FC///& et
~

the sociology class and 40 seniors are enrolled in the T T

- @74 -
E 3 6+ 6, +Neither— Beth =75 7277 iy S 031 -
L Za - /ZA/

: 1

ot Skpe-3. 3 |

>3 | / 3 /
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50. In the standard {x,¥) coordinate plane, (12,3} is
half-way between (2a, a + 3) and (4a, a — 5). What is

he value of @ 7 = 2 a é/a
: Yru o1ty bt o 2= 223 =24 e

G g - - 2~
H 3 A5 Se7 wf ONF B+ )+ -5) [/ .
E K. 6 y?é?/'/\ffr P 9{//\/4/ G 63' 2-a 2 =

H 3-1 d 1

sl Som s b:‘;i;dsfu::;;%;e‘r;ﬁ;fs LE A /?g i TAT N, N # e
GATORS ? R =H 7 /fm,s
A. 3 P A/‘ I ﬁi}%’fﬁl é / f@éé'/w
s NIRZ éx XY x37

¥ (-R)L  (3=3)] T T35l

52, As shown in the (x,»,z) coordinate space below, the ; ) ‘
cube with vertices A through H has edges that are y 8 C@f‘) /’Zé//bzzﬁ
/ i '

1 coordinate unit long. The coordinates of F are ﬂ/
apf=

(0,0,0), and A is on the positive y-axis. What are the
coordinates of D ?

b Ty g¢ 7 Lﬁdﬁf Aé ;W/,{/f’;) Veferenes
bk A X Y) Coinatds Pl

" /%/"7 D wmé/ Move ap fon (7, g)
B QLD ﬂ,v/ A»M%sa l/téfwf ay Posa7 |

G. (ov’o)

. (0,v2,1) l Poin7 D /1;95 S A4 £ ,m/e
J. [04_"\/2—;\/’5) ’L ’ ;(Pa“’“’T #) - AS pointT H y-s

K. (LL1) 2 (Pa;m?” /'9() ¥ e \./1 g /0//\7.74’

53, Whenever x, y, and z are positive real numbers, which o / ; _ -
. i Aules 0 Log e i/ 7B <

of the following expressions is equivalent to

% " (M)) | Z/)ﬁJ?))L—F//@f}Za‘& *Loﬁg%
-*—*B ;ogl( +logg(Vy)
s )mgﬁ@ | szj F }ogza‘/ +(= ﬁﬁa)
2
D. logs(x - 2) + logd V¥ 5&%’ 3—1 - ,Ofb L )Uj 5\77

i L G e
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54, If 2 €< x €5 and -4 € y £ -3, what is the maximum 7}%# % M 7 /,%/ £,

5;}6 v'zﬂ“;;fh"”'?/ar‘rjjgﬁ“ K= A 74 , I.._.L-I - 2(5)2 =

—>& 8 JrgesT 4y > |-u]-=
A - -4 —iof= 1Y

55, The measure of each interior angle of a regular n-sided i —F g é
L To7pt Niezy beA 27

polygon is (n=DI80° A regular pentagon is shown
n

below. What is the measure of the designated angle? / /74,? & S %/g? JLA/Z'/ 2 3 i

N pate P o 360"

ZATeR s - ij W Heps ol AHAT s

bR B gt 3t0t08 252

56. Which of the following trigonometric functions has an
amplitude of 2 7 /%/ NCED WWM? 7
. . . Lo
(Note: The amplitude of a trigonometric function is =
the nonnegative difference between the maximum and 5/ W p A/ /é’ D W

minimum values of the function.) \/ Sins £7r* /
=/ e Z3 X =C |+

F. fx)=2sinx

G. fix)=2tanx df’W%J’ﬁfdz//g ' ~
H. f0s) = sin( £x) Dorst Aawz Argphfuctss )/] ) % 4/"4»7/9/ 7:&!/@

J. f(x) =cos 2x
B= Pf?’?’f&[/ﬁf’c’W;’ﬁx/ﬁﬂ o2 X Citices

K. poge *m” ¢ = Clongygz > J&Z«j’rea»k O ol s S Lﬁ{/e 64’”3%
57. Which of the following is an equivalent expression for D = C‘/’ o /Q’W)‘l T
r iﬁ%r_rrﬂl%g%{:lnd t whenever r, S, and 1 are all distinet CX:{M// ol /Dd? </ /7W
an = P ﬂ// / —
pere fJomc Here
§r—=3 M ?
—>A 7 Se/Ving w9 - |
S-3 )
B G ( F—1 ) = rt-2
¢ 55 S { = FrT — 3=
D §t-3 }, - S -

I Sk-Frt = 5T~ 3
r(,gl-«’ =y = St

GO ON TO THE NEXT PAGE.
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58. In the figure below. lines / and m are parallel and angle Mja £ ’}C?é/}jiﬁgt/ /';A/@S «—{:6

measures are as marked. If it can be determined, what

is the value of x ? éﬁ //9 d‘/tﬂﬂ'i, ﬁ(w’\/// //(/jiﬁ i’ﬂ’?é?;‘ﬁr@/{/
. 7
\ A \ b
o D—e‘ 3 rd B m .
é 80 7 B9 VerT ik .z fog
. : LR
P o8 p
o C epuals 1007 Docowry |
H. o S e(,/g,-d/ef 27EH; 77 7 < N
{{.. Cannot be determined from the given information (k = /50 e (35 s /ﬂp) — Z/’/g—

59. In the triangle below, where the 2 gi ide length ED TRGoAwMT 7y (O f - el
e cxpressed n e, hat s the vabe of 5 1 rn s AAVANCED TRGoDMTEY CofupeTivar Zobufitoes
TaA € = tpt ( 90 —&
7 3 L AT,
E 3 Vou Kuwow/ Tan 7p° == = S
b e /L/(”l“"'/é ver % s NI7 ot OF M— 64&/‘6&5
ﬁ; ;sﬁfgg I%‘ L Z9° = (ot /0" i CoTB=_L p th—fé/‘/

C. 3 tan20° 2 = Tanve
D. 3sin 70° e e = T A 7§a
—>E. 3 tan 70° TRA R0 O

60. An angle in standard position in the standard I/lﬂ f,' 4L _S'///é S Wéeif'e %é’—

(x,y) coordinate plane has its vertex at the origin and , . i .

its initial side on the positive x-axis. If the measure of CZ/\(Q Je ST TS, Vv “i’e?’m)/wﬁl__ SiAgel

an angle in standard position is 1,573°, it has the same . :
K terminal side as an angle of each of the following_,r 4:.,»:3 L@"A)ef”e’ %& "Z’“ﬁé’— Gx/f/('/J

measures EXCEPT: e : — -
PoSENE Termag) Side

F —5grel i N '\'b’b ,

G. -227° .
o a9r e Bl =7
H. 133 AL 7—/,;,11;_, _&,({(_’_
qf\

493° o W0 [\‘ij\ Nege
1. : : S equ £ \NR -
_ B e \ !Y"i“ Y Térm}/v&l 5"5{3
2/ k VAR
/’6’71'6‘(6/\/(}/;

ArjleS aie T e @ 360° or Zﬁvrm/m@
I 0 fuatledf, A 313 /,é 75 ‘fiéﬂ "‘A/ /%W/;f;mo@g /33°
}"?/é"‘?’”‘/‘:@ e /:) 95 77 F Bt = =217 This is o

facﬁ /o ’LLzz; f}am {U’%&/v/ s

& %’2 féﬂgle bee cacae —227 + ~/33 = -—Béha_
C/O_SeSf Ao i?;g — 227 ;8 e Stwmé angle as 133

] Y | 6) —2Z27 iy Groag AEGETNE Fiorn K-& XiS
HX’[F‘X’S’ el /'/) /33 is Going [ ANE f-}?m W N §
198:/28=") T 473 =33 2305 on 493 - 3i0= 73 3
/‘d 575~ 5l =213 /LZ/}Ke/é /)’04/54%,2,4
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